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B i 1S 6-10 7.7-86 8.0 e
HHEE (mg/) 100 32-37 34.5 =
B Y48 &  (mg/) 10 <2 <2 v
WiBE V)48 & (mg/) 2,000 414 - 870 548 =
WAL 48 & (mg/) 10 <05 <05 s
FLVEE (mg/)) 01 |<0.04-0.055 0.044 =
BOYERRHEE (mg) 100 <15-29 19 =
HAE (mg/) 20 <10 <10 =
MéedE (mg/)) 0.5 <0.3 <0.3 =
BEr R E (mg/) 1 <0.6-0.68 0.62 s
FHEEMER (mg/l) 15 <7 <7 &
EE2EFAE (mg)) 2,000 | 130 -< 200 175 s
HikE (mg/) 200 <10-25 14 s
(0 43 25 - 28 26 v
T V8 (mg/l) # - - - -
EEeB

tf - (mg/l) 2 <04 <0.4 =
5 (mg/l) 5 <1 <1 yoss
% (meg/) 0.1 <0.1 <0.1 s
#& (mg/D) 1 <0.3 <0.3 =
i (mg/l) 2 <05 <05 =
#r (mg/l) 2 <1 <1 yoss
i (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
#2 (mg/D) 2 <1 <1 =
$ (mg/) 2 <04 <0.4 =
# (mg/l) 5 <1 <1 =
$  (mg/D) 2 <1 <1 =
HEeBEEH# (ng) 10 <7.0 <7.0 s
B (mg/) 5 <1 <1 =
# (mg/) 10 <2 <2 =
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Aldrin (mg/l) 0.01 <0.01 <0.01 &
BHCS (mg/l) 0.01 <0.01 <0.01 &
AR LT (mgl) 0.01 <0.01 <0.01 pes
FEZELEY
HKEE (mgl) 0.1 <0.06 <0.06 s
HEMHILEY
1,1,1- = & &2 (mg/h) 0.05 <0.025 <0.025 v
LEBE
% & 05k 7R 48 & (mg/D) 0.003 <0.003 <0.003 =
BN B # - - -

# MRREEETHI LR YR B IRATECRQ016 42 8 A) » MBI T - BiF
PIERESTEVE Z St A R 2ry - NI A TR -

# AEEBEECE M R 88 8 B0 B R BB R
o B




B2 B V) s B P 0

ME o RoAe B IR A (2 — /\FEUA )
28 122 1l IR & S 19 8 FTFERE
(e =)@ /&)

() =+5rgE7E @
A (kg/0.5h) 0.58 0.00 - 0.02 0.00 s
— &b (kg/0.5h) 3.86 0.01-2.43 0.26 =
B 0% (kg/0.5h) 1.16 0.00-0.21 0.01 =
#AbE (kg/0.5h) 0.08 0.00 - 0.00 0.00 s
ALY
(L= & 18 & 5 &) 7.71 0.77 - 3.79 1.63 =
(kg/0.5h)
A bk (ke/0.5h) 0.39 0.00 - 0.10 0.00 v
— & Lk (keg/0.5h) 1.93 0.00 - 1.08 0.06 v
(z) HigE ©
UL (kg/day) 9.25 0.02-0.11 0.05 v
“ &b (kg/day) 46.27 4.46 - 19.37 12.46 =
Eii%E  (ke/day) 9.25 0.10 - 1.67 0.66 v
#wAbE (kg/day) 0.93 0.00 - 0.00 0.00 =
ALY
(L Z & 1k & &5 8§) 185.06  |62.79-103.12| 76.72 s
(kg/day)
A R (kg/day) 9.25 0.05-0.28 0.14 yiss
— &AL (kg/day) 46.27 0.79 - 6.33 2.91 =
(A)  FEAtn
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et Gamy | 09 0054 =
wmREALEY
(LA bsS & &85 H) 0.73 < 0.005 s
(kg/h)
B% & (DA % 51 &) (ke/h) 1.45 <0.044 e
B (CIBEETR) (ke/h) 0.21 < 0.006 yss
R RORABE (kg/h) 0.19 <0.007 =
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(ke/h) 0.0019 < 0.0003 jiss
EReBE_E

i (kg/h) 0.0023 < 0.0001 TE

EudBEEG _HNEE =

(ke/h) 0.019 <0.0019 yiss

& (kg/h) 0.0019 < 0.0001 =

TS (ng/h) 2,891 10 ye3
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B8
W% 8 17 (K ) e, 121124 12.3 B
[ fe 5 or e (%) (%{ggﬁég) 59 - 91 77.0 =
ek
#% (ppm) 0.5 <05 <05 =
7K (ppm) 0.1 <0.02 - 0.039 0.02 =
AL E  (ppm) 10 <05 <05 s
i (ppm) <05-4.8 1.1
# (ppm) <05 <05
#i (ppm) <1 <1
# (ppm) <05-4.9 0.8
f ;ﬁﬁ(;pﬁﬁ)‘ FEH) 25 <25-69 3.4 2
#  (ppm) 20 <1 <1 yss
W% (ppm) 10 <5 <5 =
R E (ppm) 10 <2-76 2.2 v
#16Y) (ppm) 5 <5 <5 =
B8
g %fmjf W 5,000 <15 <15 v
AN EEE -
(ppm) 10 <5 <5 E
i&p;b)zﬂﬁﬁ 4= ) <5 <5 =
% & WA (ppm) 1 <1 <1 ys
TCDD (ITEF %) . <1 <1 =

(ppb)




